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And this is according to 29 972K X117 29 — 29 MR K17 2972

OVERVIEW

The X1 cites two statement in the name of 27; namely %"¥X 1202w 0W2 777
(by "X 71"7) and AR WX 7T X7 7K WY WRT (by "X 2"). X2 explained
that the ruling of 7R VW (which is referring to the m?) follows the ruling
of 2"¥xwan. Our M»doIn will discuss the necessity of both rulings.

nvoIn asks:
= %9 1139 297 Y9 1NN ININHN ON)

And if you will ask why do we need two statements of 29, which are stating
the same rule. The rule of 71"X 71" states that a 2 is ineffective against a "uw (by *ny1o as
well as all other claimsl); and 1"X >"1 states that the MY is not believed to claim 71X VW
X177 which we already know from 7"X 7".

n90IN answers:
= 9NNNR NNIAN DD NTINT 991D YU

And one can say that one was derived from the other. 2 said only one ruling
[(m»p% ¥"R 12n0w w32 771M), which was cited by 7"1.2 It was >"1 who derived from this
ruling of 27 that if a Mm% claimed X177 71K VW, he is not believed].

SUMMARY

27 made only one ruling; that a m? is not believed with a 13 against a W
o pn 1°RW. Other rulings (such as 7RI 11X X177 71K WY 1I87) were derived
from this ruling

THINKING IT OVER

1. Mmoo claims that the two rulings are redundant. Seemingly they are not.
If it would only state 5"¥Xwan I would think that it applies only by >nya»
since there 1s a counterclaim of °¥2 *Xn >7°2 70w, however by 71X VW he
would be believed. Conversely if only the rule of 71X “vw was stated I
certainly would not know that this applies by °ny75 as well (for 1"7 maintains
*ny19 1s believed and 711X 1s not believed).3

' See previous X»°X 71"7 MDOMN.
* See “Thinking it over’ # 2.
? See w"wn.
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2. moon merely says that one rule was derived from the other. Can we
assume which was the original rule and which was the derivative?
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